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COMPUTER PRACTICE

Fuifaam: 3 92 [SAfRrRaH 37 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
2. () FE-TAATeEEY g

Note : There are THREE sections in the paper A, B and C.

(i) QT CT JFTGEIT1 F 4T 10 97T & IT ST | T YT T 37 B1 & T
G4 10 YT FEGHE THR F T F & |

Answer all the 10 parts of the question Ne. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QT & 8 I 7 @ 581 6 597 & IR HIT | I F97 3 37 1 8 @7
577 5 SET / 50 W) 4 I e |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QT 6 5971 4 3 fargl 4 Fo1 & IR G197 | IF 97 8 37 HT1 8 TG
FTHT 15 T / 150 F11 7 3T 79 |
Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) Y% QFH F G 3971 H1 FHAR UF 1Y & Horg |
Solve all the questions of a section consecutively together.
(vi) @ TST3T B 37R 8§17 %1 [T 7 31 3gae @ = & |

Only English version is valid in case of difference in both the languages.

AR/ -T
SECTION - A
L () FeEddsnd e Gher e T a JE 8 ¢
(a) Toeere (b) HETU/ YT
(c) ScuTeshar (d) 3ue H IS T
Which of the following is an essential concept related to cloud computing ?
(a) Reliability (b) Abstraction
(c) Productivity (d) None of the above

: (1 of 4) P.T.O.
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FAISS Tl T UMk & HEA Y BT 2 -

(a) THUATH (b) THT 30®

(c) IHUTH (d) 3IFH A WD

Choose the correct relationship between cloud services and customers.
(a) One-to-one (b) One-to-many

(c) Many-to-one (d) Many-to-many

FATIES HEeT § o (Elasticity) T 31 2

(a) A I Al (b) THHIER HT

(©) TeH/FEHEAH GAA  (d) (2) T (c) I & pea a2 |

What does the term “Elasticity” in cloud computing refers to ?

(a) Ability to scale down (b) Parallel

(¢) Ability to scale up (d) Both options (2) and (c) are correct.
TR B YT % IS selieh <l g1 % fore 3w femer STt @

(a) Sfhe @ (b) $SIM (Indentation)
(©) Foit (key) I (d) ST H Y HIE el
How is a Code Block of program is Indicate in Python ?

(a) Brackets (b) Indentation

(c) Key (d) None of these

e o fre 3 8 i 9 e () w1 SeEm e S g 7

@ % (b) TR (Except)

(c) el @) S Tt

Which of the following statement(s) is(are) used in Python ?

(a) try (b) except

(¢) finally (d) All of the above

= 1 @ i o o /wfuy yRem A AR R 7

(&) R (b) =T

(© 3= (d) S H | HIg T
Which of the following type of looping statement is not supported in Python ?
(a) for (b) while

(c) do-while (d) None of the above

3 o @ = o1 g% 2 TRy AE & (YR H) ¢

(a) T (b) fa=

(c) ™ d) femmd

Which of the following is not a core/main data type in Python ?
(a) Tuple (b) Lists

(c) Class (d) Dictionary
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(viii) FE s g 2
(a) <r.t.3mE. ¥ firere (b) o 3 fieret
(c) SETH (d) iR @ firetent
The images are made up off —
(a) DPI (b) Pixels
(¢) Drawings (d) Pictures

(ix) Tt 8§ @ Rrw gt B wgean @ fo § 31erl 1 et S wehdt @ (Wieid) | ?

(a) ¥ATREH A (b) U

() W (@ U@

With the help of which tool the characters are inserted in Photoshop ?
(a) Slice tool (b) Type tool

(¢) Pentool (d) Pencil tool

(x) e o @ T A SIS T ISR R 7

(a) THUH MG (b) FieuE
(c) HITR-%T (d) wRINY
Which of following is an example of web browser ?
(a) MS-Office (b) Notepad
(c) Firefox (d) Photoshop (1x10)
R — ot
SECTION - B

2. FAISE IR % A A |

Write down the benefits/advantages of cloud computing. 3)

3. oy AR R ?
What is Virtual Machine ? 3)

4.  HTESIR FoI3E o T o |

Write down the characteristics of Public Cloud. 3

5. g A Suersy Tt grer argat % A for |
Write down the names of various data types available in Python. 3)

P.T.O.
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15

YL H R /IR R R T &) el ) @R H 3R a1 T % e %
feet w1 s ford |

Write a program in Python to accept two number’s from user and display “Sum” of

two numbers to user. 3)
IR H IUeTed TTE Jiooiere o SR § saTy |

Write down about Smart Object in Photoshop. 3
BRI HiteaTR <l fegivard ford |

Write the features of Photoshop Software. 3)

3-T FATSE FATEATR ?

What is Email Client ? 3
7 —
SECTION -C
T3S HPY[T T Teeieqos g fem ot qoriTenes J1eaa it |
Compare the “Cloud Computing” and “Distributed Computing”. 8)

T3 o fafi= werml (arelsrres, Fsft, wmsfire) @1 fomam @ awemsd |

Explain the categories of clouds (Public, Private, Hybrid) in detail. 8)

9T % conditional YT 1 IR0 HiEd THET |

Explain the conditional statements in Python using suitable example. ®)

R H B <l fIRivard sard T e % ST Y 3Teie afvd aueEe |

Write the features of functions in Python. Explain the uses of functions using example. (8)

wIereT H Nef 7a, 9o ¢, TTed gl i 3T Tied quersd |

Explain the “Retouching tools”, “Selection tools” and “Slice tools” in Photoshop using
suitable example. 8)

AT SIS <! HrEAyued, formivarati vd 3w % Ty |

Explain the features, uses and working of Web Browser. 8)




